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! y * Test mit SPICE fuer R1=0 '
\ "\ ¢ * Entnormierung fiir R2=50 Ohm },»' |
K ). . Vve20AC1 » : S/ l
28 \ L1 2 3 1.008E-6 / !
| { Cl 34 251.1E-12 /
! I i L2 4 0 0.263E-6 / .
: H i C2 4 0 967.7E-12 ' K
[ | § 13451.17E-6 ! .
! | i C3 5 6 215.8E-12 ; !
: . L4 6 0 0.385E-6 / {
! { C4 6 0 657.9E-12 /
| i R2 6 0 50 o :
; xi .AC LIN 300 1E6 30E6 ! |
; { .END 'ﬁ !
'S ¢1 \ . 2
: ............. : /,ar\\\ P T ' oyee e ." ....................................... :
I S e 1 «i____\_._/_'____j__};_;‘.f_-(_(i_\__\.{,_ __________________ ;
1MHz SMHz n 18MHZ 15MHZz 28MHZ
[0}-28xloglB(v(6)) ' " Mhe releal
' égé}ﬁ%z Frequency Cl = 6.6628M, - 54.645n |« ()
C2 = 11.766H, -3.8796
dif= -5.16839M, 3.1342
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! : * NW $S 1984 Nr. 3 :
. ' vl 1 0 AC 1 ; Ansteuerung )
dg‘ Rx 1 01 ; nur numer. Gruende |
2 . XAddl 1 7 2 0 Addition |
1 Eal 7 0 30 -0.320885 ; -al l t
! XTau 2 3 0 Delay !
! Ebl 4030 1; bl |
! XAdd2 2 4 5 0 Addition
' . EA 6050 0.66044 ; A t
. : : | Ry 6 0 1 ; nur numer. Gruende ' :
| 4 ) ) : ) ) LAC LIN 500 1E6 20E6 I .
‘L 28 1 : : ‘ '
| i * Unterprogramme i
| | : .SUBCKT Additicn IN1 IN2 OUT GND ‘ ‘ \
1 - | 5 “El 1 OGND IN1 GND 1 ' | '
t . R1 1 GND 1 i
! | E2 OUT 1 IN2 GND 1 . !
! i R2 OUT 1 1 [ '
) |l : .ENDS '| II :
: } o .SUBCKT Delay IN OUT GND a ( '\ ;
| R El 1 GND IN GND 1 { l ,
18 : Foi Rl 1 GND 1 J ) )
q : ‘ AR RG 1 2 50 B § )
! : {0 T1 2 GND 3 GND 20=50 TD=116.279ns J | '
i : ! k. RL 3 GND 50 ] |
! : f' ) E2 OUT GND 3 GND 2 (’ | | !
! : ! | R2 OUT GND 1 / i [
\ : ! \ .ENDS - i :
, | : //‘. , / [ \ )
\ /.- S .END J,' ' \\, ,
3,01 : ...... R //( .......... \ ................................................. /, .......................... \\ ..... l'
: P .y - AL
S B H ———, J——
B+----="" - 121 ------- B e ikt i e e e i
BHz 3HAZ 1 spyz 18MHz 15HHz
i0i-28=loglB(v(B)v(1))
' Frequency Cl = q.3877H, 48.157

C2 = 3.0088M, 3.8113
dif= 1.3877M, 3¢.145 ~
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